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TEST – 5 

 

1. Answer the following questions  
 gpd;tUk; tpdhf;fSf;F tpilasp 

 
A. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per 

annum is ₹ 750. Find the sum.  
FkuNty; xU Fwpg;gpl;lj; njhiff;F 10% tl;b tPjk; 2 Mz;Lfs; fopj;J ì 

750 I jdptl;bahfr; nrYj;jpdhy;> mriyf; fhz;f.  
 Solution:  
  Given the rate of interest (r) = 10% per annum 
      Time (n) = 2 years 

  We know that Simple Interest (I) = 
100

Pnr

  
 

      750 = 
2 10

100

P 
 

  Therefore, Principal (P) = 
750 100

2 10




= 3750 

Therefore, Kumaravel has borrowed a sum of ₹ 3,750 

 
A. (B) If a + b + c = 15, ab + bc + ca = 25 find a2 + b2 + c2  

            a + b + c = 15, kw;Wk; ab + bc + ca = 25 vdpy; a2 + b2 + c2 I fhz;f.  
        solution:  
   we have ( a + b + c)2 = a2 + b2 + c2 + 2 (ab + bc + ca).  
  So,  
  152 = a2 + b2 +c2 + 2(25)  
  225 = a2 + b2 + c2 + 50  
  a2 + b2 + c2 = 225 – 50 = 175  

 

2. A mother divides ₹ 207 into three parts such that the amount are in A.P. and 
gives it to her three children. The product of the two least amounts that the 

children had ₹ 4623. Find the amount received by each child.  
 xU jha; jd;dplk; cs;s ì 207 I $l;Lj; njhlh; thpirapy; mikAk; %d;W 
 ghfq;fshfg; gphpj;Jj; jdJ %d;W Foe;ijfSf;Fk; nfhLf;ftpUk;gpdhh;. 
 mtw;wpy; ,U rpwpa njhiffspd; ngUf;fw;gyd; ì 4623 MFk;. xt;nthU 
 Foe;ijAk; ngWk; njhifapidf; fhz;f.  
 Solution:  
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 Let the amount received by the three children be in the form of A.P. is given by a 
 – d, a, a + d. Since, sum of the amount is ì 207, we have ( a – d) + a + (a + d) = 207  
 3a = 207 gives a = 69  
 It is given that  
 product of the two least amounts = 4623. 
  (a – d) a = 4623 
  (69 – d)69 = 4623  
   d = 2  
 Therefore, amount given by the mother to her three children are  

 ₹ (69−2), ₹69, ₹(69+2). That is, ₹67, ₹69 and ₹71. 
 

3. In a rectangle, if the length is increased and the breadth is reduced each by 2 cm 
then the area is reduced by 28cm2. If the length is reduced by 1 cm and the 
breadth increased by 2cm, then the area increases by 33cm2 . Find the area of the 
rectangle. 
xU nrt;tfj;jpd; ePsj;ij 2 nr.kP mjpfhpj;J mfyj;ij 2 nr.kP Fiwj;jhy;> 
mjd; gug;G 28 r.nr.kP FiwfpwJ. ePsj;ij 1 nr.kP Fiwj;J mfyj;ij 2nr.kP 
mjpfhpj;jhy;> nrt;tfj;jpd; gug;G 33 r.nr.kP mjpfhpf;Fk; vdpy;> nrt;tfj;jpd; 
gug;igf; fhz;f.  

 Solution:  
 Let the length of the rectangle be x units and the breadth be y units. 
 Area if the rectangle = length × breadth = x × y = xy sq. units 
 From the given information, we have, 
    (x + 2) × (y – 2) = xy – 28 
   and (x – 1) × (y + 2) = xy + 33 
   (x + 2) × (y – 2) = xy – 28 
     xy – 2x + 2y – 4 = xy – 28 
   – 2x + 2y = - 24 
     – x + y = - 12 
     x = y + 12      (i) 
   Also, (x - 1) × (y + 2) = xy + 33 
   xy + 2x – y – 2 = xy + 33 
     2x – y = 35      (ii) 
  Substituting equation (i) in equation (ii), we get, 
    2x – y = 35 
    2 (y + 12) – y = 35 
      2y – 24 – y = 35 
      y = 11  
    Substituting y = 11 in equation (i), we get,  
    x = y + 12 
      x = 11+ 12 
      x = 23 
   Therefore, length of rectangle = x = 23 units 
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   and breadth of rectangle = y = 11 units 
   Area of rectangle = xy = 23 × 11 = 253 square units 

 

4. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
 
A. Find the C.I. on ì  15,625 at 8% p.a. for 3 years compounded annually. 
 ì 15,625 f;F Mz;L tl;b 8% tPjk; vdpy;> 3 Mz;LfSf;Ff; $l;L tl;b 
fhzTk;.  

 Solution 
  We know, 

  Amount after 3 years = 
3

1
100

r
P
 
 

 
 

      = 15625 
3

8
1

100

 
 

 
 

      = 15625 
3

2
1

25

 
 

 
 

      = 15625 
3

27

25

 
 
 

 

      = 15625 
27 27 27

25 25 25
    = ì 19,683 

  Now, Compound interest = A – P = 19,683 – 15,625  

= ì 4,058 

 
B. A person saved money every year, half as much as he could in the previous 

year. If he had totally saved ₹ 7875 in 6 years then how much did he save in 
the first year?  

xU egh; xt;Nthh; Mz;Lk; mjw;F Ke;ija Mz;L Nrkpj;j njhifapy; ghjpiar; 
Nrkpf;fpwhh;. 6 Mz;Lfspy; mth; ₹7875 Ir; Nrkpf;fpwhh; vdpy;> Kjy; Mz;by; 
mth; Nrkpj;j njhif vt;tsT?  
Solution  
Total amount saved in 6 years is S6 = 7875 
Since he saved half as much money as every year he saved in the previous year,  

 We have r = 
1

2
 < 1 

  

6
1

1
2(1 )

7875
11

1
2

n
a

a r

r

  
       



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1
1

64
7875

1

2

a
 
 

   gives a 
63

7875
32

   

  a = 
7875 32

63


so, a = 4000  

 The amount saved in the first year is ì 4000.  
 

5. In simple interest, a sum of money amounts to ₹ 6,200 in 2 years and ₹ 6,800 in 3 
years. Find the principal and rate of interest. 
xU njhif xU Fwpg;gpl;l jdptl;b tPjj;jpy; 2 Mz;Lfspy; ì 6,200 vdTk;. 3 
Mz;Lfspy; ì 6,800 vdTk; cah;fpwJ vdpy; me;jj; njhifiaAk;> tl;b 
tPjj;ijAk; fhz;f.  
Solution:  

  Amount = 6200  (2 years) 
  Amount = 6800  (3 years) 
  SI For  1 year = 6800 – 6200 = 600 
  So, SI For 2 year = 1200 
  p = 6200 – 1200 = 5000 

   r = 
600

5000

 
 
 

 × 100 = 12% 

 
6. Answer the following questions  

  gpd;tUk; tpdhf;fSf;F tpilasp 
 
A. The cost of a computer is ì 20,000. The company offers it in 36 months, but 

charges 10% interest. Find the monthly installment the purchaser has to pay. 
xU fzpdpapd; tpiy 20,000. xU epWtdk; ,j;njhifia 10% tl;bAld; 36 
khjj; jtizahfj; juyhk; vd;fpd;wJ. ,ij thq;Fgth; nrYj;j Ntz;ba 
khjj; jtiz vt;tsT?  
Solution:  

Cost of computer = 20,000, Interest = 10% 

  p.a.Period = 36 months (3 years)  

  Total Interest  = 20000 × 
10

100
 × 3 

      = 6,0000 
  / Total amount to be paid  = 20,000 + 6,000 
    

       = 26,000 

  Monthly Installment = 
  Total amount 

Number of months
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    = 
26000

36
 

    = 722.22 
     722 

 

B. If the difference between a number and its reciprocal is 
24

5
, find the   

number.  

Xh; vz; kw;Wk; mjd; jiyfPop Mfpatw;wpd; tpj;jpahrk; 
24

5
 vdpy;> me;j 

vz;izf; fhz;f.  
Solution:  

 Let the number be 'x'  

 its reciprocal is 
1

x
 

   Given x - 
1

x
 = 

24

5
 

   
2 1 24

5

x

x


  

   5x2 – 5 = 24x  
   5x2 – 24x - 5 = 0  
   5x2 – 25x + x – 5 = 0 
   5x (x – 5) + 1 (x – 5) = 0  
   (x – 5) (5x + 1) = 0  

     x = 5, - 
1

5
 

 The number is '5' or '-1/5'. 
 

7. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
 

A. The sum of the digits of a three-digit number is 11. If the digits are 
reversed, the new number is 46 more than five times the old number. If 
the hundreds digit plus twice the tens digit is equal to the units digit, 
then find the original three digit number ?  
xU %tpyf;f vz;zpy; ,yf;fq;fspd; $Ljy; 11. ,yf;fq;fis 
,lkpUe;J tykhf thpir khw;wpdhy; Gjpa vz; gioa vz;zpd; Ie;J 
klq;if tpl 46 mjpfk;. gj;jhk; ,l ,yf;fj;jpd; ,U klq;NfhL E}whk; 
,l ,yf;fj;ijf; $l;bdhy; xd;whk; ,l ,yf;fk; fpilf;Fk; vdpy;> 
me;j %tpyf;f vz;izf; fhz;f.  

     Solution:  
   let the 100’s digit be ‘x’ 10’s be ‘y’ and Unit digit be ‘z’ 
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   / The three digit number is 100x + 10y + Z 
   Now given,  x + y + z = 11     (1) 
   100x + 10y + x = 5(100x + 10y + z) + 46  
   Simplifying 
   499x + 40y – 95z = - 46       (2) 
      x + 2y = z 
    x + 2y - z = 0         (3) 
  Consider (1) and (3) 
    x + y + z   = 11       (1) 
    x + 2y – z  = 0       (3) 
  (1) + (3)    2x+3y       = 11       (4) 
 
 Consider (1) 
     499x + 40y – 95z = - 46      (2) 
 (1) x 95     
     95x  + 95y + 95z  = 1045     (5) 
     594x + 135y = 999       (6) 
 
 Consider (6) and (4) 
    594x + 135y = 999       (6) 
  (4) ×45    90x + 135y  = 495       (7) 

    504 504x   

 

      x = 
504

504
 = 1 

 Substituting the value x = 1 in (4) 
    2(1) + 3y = 11 
    3y = 11 – 2 = 9 

     y = 
9

3
 = 3 

  Substituting x = 1, y = 3 in (1) 
    1 + 3 + z  = 11 
    z = 11 – 4 = 7 
  / x = 1, y = 3, z = 7 
  / The original three digit number is 137 
  i.e., 100 (1) + 10 (3) + 1 (7) = 100 + 30 + 7 = 137 
 

B. 3 + 33 + 333 +.... to n terms find the sum  

 3 + 33 + 333 +.... n cWg;Gfs; tiu. $Ljy; fhz;f.  
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   Solution:  
    3 + 33 + 333 + … to n terms. 
 
   Let Sn = 3 + 33 + 333 + … upto n terms. 
    = 3 [1 + 11+ 111 +  upto n terms] 

    = 
3

9
 [9 + 99 + 999 +  upto n terms] 

    (multiply and divide by 9) 

    = 
1

3
[(10 – 1) + (100-1) + (1000 - 1) + …n terms] 

    = 
1

3
[(10 – 1) + (102 - 1) + (103 - 1) + …upto n terms] 

    = 
1

3
{(10 + 102 + 103 + …upto n terms – n} 

    = 10 + 102 + … is a G.P. with a G.P. with a =10,  r = 10 

    /  Sn = 
( 1)

1

na r

r




 

    Sn = 
1 10(10 1)

3 10 1

n

n
  

  
  

 

    Sn = 
1 10(10 1)

3 9

n

n
 

 
 

 

    = 3 + 33 + 333 + to n terms = 
n10 n

(10 -1) -   
27 3

 

  

8. Find the difference in the compound interest on ₹ 62500 for 
1

1
2

 years at 8%p.a 

compounded annually and when compounded half-yearly. 
8% Mz;L tl;b tPjj;jpy; tl;bahdJ Mz;Lf;nfhU KiwAk;> 

miuahz;Lf;nfhU KiwAk; fzf;fplg;gl;lhy;> ì 62500 f;F 
1

1
2
Mz;LfSf;F 

fpilf;Fk; $l;L tl;bfspd; tpj;jpahrj;ijf; fhz;f.  

Solution:  
  P = ì 62500 
  n = 1½ yrs. (ab/c) Formula 
  r = 8% Compound annually 
  CA = A – P 
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  A  = 
1 1

10 100

a
b

r
r cP
o

 
  

   
   

  

  = 1
1

8
8 262500 1 1

100 100

 
  

   
   

 

 

  = 108 4
62500 1

100 100

  
  

  

 

 

  = 108 104
62500 70200

100 100

  
  

  

    (1)  

  CI = 7700 
 
 Case 2 :  

  P = ì 62500 
  n = 1½yrs.  
  r = 8% p.a when compound half yearly 
  r = 4% compound half yearly 

  

3
2 2

2r 4
A = P 1+ 62500 1

100 100

n 

   
    

   
 

   

3
104

62500 70304
100

 
  

   

   CI 

3
104

62500 62500
100

 
  

 
 

   = 70304 – 62500 = ì 7804 
   Difference between case 1 & case 2 is (2) – (1) 
    / (2) – (1) = 7804 – 7700 = ì 104 
    
 


